
Stewart Steel Inc.
Box 1087

Weyburn, Sask., Canada

S4H 2L3

Ph 306-842-4411

Fax 306-848-3519

       X-Streme Instructions
1. Mount left and right side mounting brackets with 5/16" x 3/4" bolts flat washer and locknut (Fig 1 and Fig 2)

Figure 1 Figure 2

2. Cut out rear of spout with jigsaw following line for size of auger 

Figure 3 Figure 4

3. Bolt spout to brackets with 1/4" x 3/4" bolts and fender washers

"12"

Case

JD 13"

Case& NH 

Attach with 
1/4" bolts 
& washers 


